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(1) 28 x% 5 CTElo726, B2y TRYUDP 3 IR o7z,
x=5y+3

(2) Effi x Mo % 3 E5 % TH-T, 4000 I L7820 2y MTdh 3,

y = 4000 — 0.7x

2 [ERDEXRD]
ROFEAT, R 2123 cizO%, o niTiIX EFE 2RI WV, (1axe)

(1) x—5=-7 (2) 4x+9 =11 (3) 3x+1=5x-3

@) 2x+1=4(x+7) (5) 7(x+1) =8x—2 6) 6(x—1) =2(x+1)

3 [EFERDEXRQG)]
-2,-1,0,1, 20H25, ROGFERDMITIR>TWDE D DEIES, (14x6)

() 3x+1=7 (2) 2x +7 = —5x (3)3(x—2)+6=0
(4) 3(x+3)=—4x—5 (5) 0.5x + 0.2 = —0.6x + 1.3 6) _2’;+3 = _3’§_1
(1) 2 2 -1 3) 0 4 -2 (5) 1 6 -2
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FRAEM L%, EROWE] 0 LhzflioT200O~@IHTIRE 254
T~ L B R E L

| 7. A=B %&bl¥ A+C=B+C 4. A=B %biE A-C=B-C |
: . . A_B |
. Y. A=B 7%&bl¥ AC=BC T. A=B %L T=¢ :
1 2
W 2x+7=1 - 2 %x—8=5 -
(o] . (@]
2x+7—-7=1-7 <= Zx_8+8=5+8 <
7}
2% _ -6 1
27z v 7XX4=13x4 <
x=-3 x =52
®© 4 @ = ® 7 @ v

2 [(FERDEEZH]
ROFTERZEE 72 X v, (14%8)

() x+5=7 (2) —9x =36

x=2 x=—-4
3) 6x+7=4x+5 (4) 3x +2 =12 —2x

x=-1 x=2
(5) —5x + 8 = 2x — 34 (6) 6 —10x = 30 — 4x

X=6 x=-4
(7) 4x — 50 = 2x + 10 (8) 3—8x =39 —4x

x =30 x=-9
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(1) 3(x+1)—7 =14 (2) 9—4(x—-3)=5

X=6 x =4
(3) 5x —(2x+3) =6 4) 2x +2(33x +8) =0

x=3 x=-2
(5) x —4(2x —7) = 3x — 12 (6) 5(x +3)—8(3x—10)=0

x=4 x=5

2 UNSEETHER]
ROTIFEAEMARE 72 T, (1six6)

(1) 03x — 0.4 =2.3 (2) 3.5x - 09 =28x+1.2

=
Il
O
=
Il
w

(3) 0.04 = 0.16 — 0.03x (4) 0.12x + 0.1 = 0.06x — 0.08

=
Il
N
=
Il
|
w

(5) 0.05(3x —8) = 0.18x — 0.13 (6) 0.04(x +3) = 0.1x — 0.03
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_ _2,_9
(1) zx+2=7 (2) 3=zx—3
x =20 x=9
2 1_3 1 2
(3) §x—7=1x (4) §(2x—1)=7(3x—2)
5
x=-6 *=3
2x+1 _ x—7 2x+5  4x+2 _
6) =5=="3 ) =5—-—F5—=1
x=-13 x=2
o | lmmrsiE]
ROFFERZIAEE 72 X v, (1%6)
(1) x: 10 = 2: 5 2) (x+1): 2x—1) = 2: 3
xX=4 x=05
1 2 2x+1 x=7 _
(3) ZX+8—§X+3 (4) T—1—0—6
139
x=12 T
(5) ’“5’1 +0.25x=—% (6) %(x—2)+0.5(x+3)=12
67
x=-1 =%
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